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[%] 1] (2021 « X&) B%la=log, 03, b=log 04, ¢=04", W=FKKNLEZN ( )

2

(A) a<b<c (B) c<a<b (C) b<c<a (D) a<c<b
AT - B bARCHKT O, BTVAa s,

b=log, 0.4>1log, 0.5=1, ¢=04""<04" =1, Pi¥ha<c<b.
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[7:] #a=1log,1.8, b=e’, c=log,15, N C )

(A) a<b<c (B) a<c<b (C) b<a<c (D) c<a<b

3

Y | 0<log,1.8<1, 2=log,9<log,15<log,27=3, 1=e"<e’<e<3,
3 3
5 323 5 3
(e—)5=6—5<35=27<1:>e—<1:>e5<2, FhiPLO0<a<l<b<2<c<3.
2 27 27 32 2
EE: A

[%5]2] (2021 «# & F %) tHla=log. 2, b=log,3, c=%, DR A IR AR ¢ )

(A) c<bxa (B) b<a<c (C) a<c<b (D) a<b<ec



A

1 1 ..
a=10g52<10g5\/§=5=6, b=10g83>10g8(2\/5)=5=c, Fivha<c<b.

EE: C

[5]) Cla=+3, b=log,\3, c=log,\2, Wa, b, clIRNERN (

(A) g>b>c (B) a>c¢>b (C) b>a>c (D) ¢>b>a
fRAT: MR AEHTFa>1, b, ¢ AE0)L, FIha &K,

1 1

> C=10g3\/§<10g3\/§=5, FTVAb>c, #a>b>c.

b=10g2ﬁ>10g2x/§=

EE: A

5] 3] iﬁaz(%)i‘, b:(%)z, cz(é)% W a, b, clINERN C

(A) c>a>h (B) ¢>b>a (C) a>c>b (D) a>b>c
AT -

AA f(x)=x*2£R L, ﬁﬁl&(f(%)>f(%), EP(%)3>(%)3, Ha>c;

%g(x)z(%)xﬁ-_R_t\,, ﬁﬁ‘lflg(%)<g(%), EP(%)2<(%)3, ¥ bhb<c: PiIvAa>c>h.
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11;3, b=11122’ c= Ma, by cHIKDERN C O
C

(A) a>c>b (B) b>c>a (C) c>a>b (D) ¢>b>a

[ 4] C % a =

A

K () =22(x>0), Ma=70), b=fQ2), c=f(e) BH fi(x)=0%,

X X

)



FTVA f'(x)>0=0<x<e, f(x)<0<=x>e, & f(x)&(0,e) L., & (e,+0) L\,

yERp b:f(z)zgz 2122 - IT = f(4),

Xe<3<4, P f()>fB)>f(4)=f(2), #c>a>b.
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1. (2023 « ATTHEAL « kk) CHla=log,4, b=log,,2, c=5"" MWa, b, cFIRPKRFRZAN C )

(A) a>b>c (B) a>c>b (C) e>b>a (D) ec>a>b

2. (2023 « REFGIT A5 <k k) BHla=2", b=1-21g2, c=2-1log,10, M a, b, c FIR/PKRZZEC )

(A) b>c>a (B) a>b>c (C) a>c>b (D) b>a>c

3. (2022 « HREAL « k) a=10g3%, bzlogzg, c=3", Wa, b, cBIR/PNKFEN C )

(A) c>b>a (B) ¢c>a>b (C) a>c>bh (D) a>b>c

1
4. (2023 « ZEBHL « kk) CHFla=37, b=23, c=log,5 W C

(A) a<b<c (B) c<a<b (C) b<c<a (D) a<c<b

5. (2015« LlLZRE = K k) wa=06"°, b=0.6", c=15", Wa, b, cHIRK/NKRZN C )
(A) a<b<c (B) a<c<b (C) b<acx<c (D) b<c<a



6. (2022 « ZHARI « hk k) CHla=log,4, b=log.9, czgy e

(A) a<b<c (B) c<a<b (C) b<c<a (D) a<c<b

7. (2023 « BEPUMIARREALL « Jekk) Chla=log, 2, 5b=03", ¢=052 M C )

(A) c<b<a (B) c<a<b (C) a<b<c (D) b<c<a
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8. (2022  WIHLH « %k K) BHla=25, b=47, ¢=255, W C )
(A) b<a<c (B) a<b<c (C) b<c<a (D) c<a<b

9. (2022 « VLIGFEEBII « dokk k) CHla=e-1, b=e*-=, c=4-

(A) b>c>a (B) a>c>b (C) e>b>a (D) c¢>a>b



